INTERNATIONAL INDIAN SCHOOL, DAMMA
UPPER PRIMARY SECTION Class IV
SUMMATIVE ASSESSMENT — I (June - 2013)

SUBJECT: English TIME: 2 hours MARKS: ORALS=
Name: Sec: Roll No: WRITTEN= /S0
1. Read the questions carefully and attempt all. TOTAL= /60

2. Read your paper thoroughly before submission.

PART-A
I. Write the meanings for the following words. (1 x 3 =3mks)
1. Wizard -
2. Ancient -
3. Task-
I1. Write the opposites for the following words. (2 x 3 =1 Yamks)
1. End X
2. Different x
3. Shouted x
IIL Fill in the missing genders. (2 x 3 =1 amks)
Masculine Feminine
1. Bride
2. Tiger
3. Sir
IV. Give plurals of the following. (2 x 2 = 1mks)
1. Country -
2. Torch -

-
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1. The window is broken. [pane, pain]
2. students did not submit their project on the due date. [sum, some]
VI. Frame meaningful sentences for any two words. (1 x 2= 2mks)

1. participate -

2. careful -
3. wonderful -
VII. Add a suitable prefix from the bracket to the list of words (2 x 4= 2mks)
(im, dis, un, ir, re |
1. friendly 3. regular
2. appear 4, perfect
VIII, State whether the following statements are True or False. (Y2x 4 = 2mks)

1. Lion and tiger roared with laughter when they saw how funny all the animals
looked. -

2. The Olympic Games are held every five years.

3. The king of Mycenae was happy because Hercules was more famous than he was.

4. An angel told the Red Dragon that the world was going to end.

IX. Add suitable question tags to complete the guestions. (%2 x 2= 1mks)

1. You are John, ?

2. The car isn’t in the garage, ? 1 /‘
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PART-B

I. Rewrite the following jumbled sentences correctly.

1. air, in, the, flies,

aeroplane,

an

2. pictures, on, wall, are, there, the

I1. Match the subject with the predicate.

(% x 4 = 2mks)

1. Bees works in a hospital.

2. Nurse cries loudly.

3. Baby is old yet healthy.

4. My grandfather gather honey from flowers.

II1. Circle the odd one.

1. basketball, cricket, football, chess, tennis

2. peas, beans, potatoes, mutton, carrots

IV. Write the given words in alphabetical order.

1. hibiscus, rose, daisy, petunia, honeysuckle, daffodil

(*2 x 2 =1mk)

(% x6=1V2mks)

V. Complete the table.

(*2 x3 =1%2mks)

Verb

Present Tense

Past Tense

Continuous Tense

I. Ring
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VI. Underline the verbs and state the tense.

1. He is reading a story book.

2. The children swam in the pool.

3. Harry will be playing badminton.

VII. Change the verbs into the tense indicated in the brackets and rewrite the
sentence. (1 x 3 =3mks)

1. I read the newspaper. (change into present continuous tense )

2. Mohit wiped his hands with a towel. (change into simple future tense)

3. I shall write neatly. (change into present continuous tense)

VIIL Fill in the blanks using the right helping verbs from the brackets. (1 x 3 =3mks)

1. A spider six legs.(has, have)
2. The house belonging to those people (is, are) not very old.
3. The quality of the mangoes (was, were) not good.
PART-C
I. Answer the following in one sentence. (1 x 3 =3mks)

1. Of all the animals who were the most vain?

Ans.

2. Why does the Olympic symbol have five rings?
Ans.

\ |
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3. When do you see the balloons shining?
Ans.

II. Answer the following (ANY TWOQO)
1. Why did the Lion decide not to live the earth?
Ans,

2. Where was the Olympic torch first lit and where was it taken?
Ans.

3. What was Rhino proud of? Why would Elephant smile?
Ans.

www. StudentBounty.com
-Homework Help & Pastpapers



http://www.studentbounty.com/
http://www.studentbounty.com

II1. Annotation

1."Quick, there is no time for discussion.”

IV. Complete the lines of the poem.

The Balloon man

He always comes on market days,

And holds

—

(% x 6 = 3mks)

he stands,

of lunch.

They re red and

You see them shining far away.
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V. Comprehension.

A typical male Siberian tiger may weigh 500 pounds. The tiger's gold colouring
with black stripes allows it to hide easily in its environment. Tiger can travel long
distances.

Tigers eat just about anything, but nothing eats the tiger. They have been known to
eat crocodiles, fish, birds, reptiles, and even predators like leopards and bears.
However, its favourite food is animals such as deer and wild pigs.

People have hunted tigers for hundreds of years. Humans are the biggest threat to the

tiger population of this world. Only 5,100 to 7,500 tigers now remain in the entire world.

Q.1 How much does a typical male Siberian tiger weigh?

Q.2 Write two adjectives which describes the tiger?

Q.3 What is the tiger's favourite food?

Q.4 Who is the threat to the tiger population?

Q.5 How many tigers now remain in the entire world?
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